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Bending moment, shear and deflection
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Bending moment, shear and deflection

BUILT —IN BEAMS
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LOADING

My =Mg= -2PLl/s
Mp =Mg = PlL/s

MOMENT

The /oad on the outside stringers is carried. directly by the supports
The continuous beam is assumed to be horizontal at each support
The reaction at the supports for each span = W2 . but the maximum
shear force in any span of the continuous beam =
The value of the tixing moment at each support =— B.WL
The value of the maximum positive moment for each span=
The valve of the maximum deffection for each span <=0-0026 WL

%
¥
v
&: When n Is odd, o3t
1 d, =i
N d =t Pl max. fpat'I/ a/[ ( "V
E Max: OO0 £ When n is even
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1 &/p L ~+ Lip L/n <= Lfp = Ljp L/ 14
L When n>10, consider the Joad wiormty ditributed L

W‘?(n /Y

=C.WL

EI
Value of n A 8 C

2 0-2500 0:0625 0-0625
J: 0:.3333 0-074/ 0-0370
4 03750 0078/ 00469
5 0:4000 0-0800 0:0400
6 O-4/67 0-08!// 0-0439
7 0-4286 0-08/6 00408
& 04375 0-0820 0-0430
9 O- 4444 00823 0-04/13
0 0-4500 0-0825 0-0425






